## OFFICE OF THE CITY ATTORNEY CHARLES PARKIN, City Attorney 333 West Ocean Boulevard, 11th Floor Long Beach. CA 90802-4664

### FIFTIETH AMENDMENT TO LIGHTING CONTRACT NO. 24289

### 

THIS FIFTIETH AMENDMENT TO CONTRACT NO. 24289 is made and entered, in duplicate, as of June 6, 2018 for reference purposes only, pursuant to a minute order adopted by the City Council of the City of Long Beach at its meeting held on November 21, 1995, by and between WS LIGHT & POWER, INC., a California corporation ("WS"), assignee of CITY LIGHT & POWER, INC., a California corporation ("CLP"), and the CITY OF LONG BEACH, a municipal corporation ("City").

WHEREAS, the parties entered into Lighting Contract No. 24289 whereby CLP agreed to convert the City's Street Light System; and

WHEREAS, said Contract included a provision whereby the City could choose to install, relocate or remove lighting and WS would do so; and

WHEREAS, the City desires WS to perform such additional work as provided in the Contract;

NOW, THEREFORE, in consideration of the mutual terms, covenants and conditions contained in Lighting Contract No. 24289 and herein, the parties agree as follows:

- 1. Section 80 of Lighting Contract No. 24289 is hereby added to read as follows:
  - "80. TROUBLESHOOT AND REPAIR LIGHTING ON BELMONT PIER.
- 80.1 Scope of Work. WS shall troubleshoot and repair lighting on Belmont Pier, more particularly described in the proposal attached hereto as Exhibit "BBB" and incorporated herein.
- 80.2 Compensation. For the services and work related to troubleshooting and repairing the lighting on the Belmont Pier, City shall pay WS upon completion of the services, an amount not to exceed Thirty-Two Thousand Seven Hundred Fifty Dollars (\$32,750).
  - 80.3 Conditions. To the extent applicable, any and all terms and conditions

relating to the Street Lighting System in Lighting Contract No. 24289, including all exhibits, shall apply to troubleshooting and repairing the lighting on the Belmont Pier."

 Except as expressly amended herein, all of the terms and conditions contained in Lighting Contract No. 24289, as previously amended, are ratified and confirmed and shall remain in full force and effect.

IN WITNESS WHEREOF, the parties have caused this document to be duly executed with all formalities required by law as of the date first stated above.

		,	
		•	WS LIGHT & POWER, INC., a California corporation
June	8tm	, 2018	Name Tom Symmions Title Passidiant
June	- 8m	, 2018	By William J. Summer
	Tom Modica		Title Residet.
	Assistant City EXECUTED PUR	RSHANT	"WS"
ſ	TO SECTION 3 THE CITY CHA	301 OF ARTER	CITY OF LONG BEACH, a municipal corporation
	~ 20	, 2018	By By
<del>\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\</del>		,,	City Manager
			"City"
	This Fiftieth Am	endment to Lig	ghting Contract No. 24289 is approved as to
orm on	5/12	- , 2018	3.
		,,	ARLES PARKIN, City Attorney  Deputy

# EXHIBIT "BBB"



Chy Light & Power, Inc.

2801 Aedonda Avenus

Long Beach

California 90800

Tol 862 882 2000

Fue 562 883 7820

May 31, 2018

Attn: Elvira Hallinan City of Long Beach Park, Recreation and Marine 2760 Studebaker Road Long Beach, CA 90815

RE: Troubleshoot and Repair Lighting on Beimont Pier

Ms. Elvira,

City Light & Power, Inc. (CLP) is pleased to submit a proposal to troubleshoot and repair the lighting for the Belmont Pier in Long Beach. A detailed description of the work is listed below.

CLP will rent an Underbridge Inspection Truck in order to access the lighting circuit that is located under the pier. The entire circuit utilizes SO Cord and our pricing assumes that we may have to replace portions. We have estimated that this work will take approximately one (1) week and the costs for such are included in the price. The estimated cost to complete this project is Thirty-Two Thousand Seven Hundred Twenty Dollars (\$32,720). This work should be performed on a Time & Material basis due to the fact that we are unsure what work will be required to repair the lighting on the pier, which could be less than what we have quoted.

#### Breakdown as follows:

La	bor:					
-	Supervisor	10	hours	\$	110.20	\$1,102
-	Journeyman	44	hours	\$	75.45	\$3,320
-	Groundman	44	hours	\$	52,57	\$2,313
	desired the address of the second					\$6,735
Eg	ulpment:					
-	Supervisor Truck	10	hours	\$	11.10	\$111
-	Service Truck	4	hours	\$	11.00	\$44
-	Bucket Truck	40	hours	\$	33.08	\$1,323
						\$1,478
Ma	iterial:					
٠	SO Cord	2300	If .	\$	7.03	\$16,175
Re	ental Equipment:					
Under Bridge Inspection Truck		1	Week	\$8,332.00		\$8,332
-	Includes delivery & return of vehicle					and the second of the second second second
Ov	verall Total					\$32,720

This proposal is to get the lights working with the existing infrastructure that is currently in place and is not intended to be a permanent solution. Therefore, CLP makes no guarantee on how long the solution will last.

If you agree with the above scope of work and would like to proceed with the project, please sign below and fax or email it to my attention so that we may schedule the work

If you have any questions, please call me at (720) 305-0399

Sincerely, CITY LIGHT &	POWER, INC.			
Brad M. Weber Chief Estimator				
Approval:		Date: _	<u> </u>	
Purchase Orde	r No:			